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Clock Test

Instructions (Questions 1-20): Study the clock and its letter given below carefully and answer the
questions based on it as per instructions. For each question, five options are given in the answer sheet,
namely A=1, B=2, C=3, D=4 and E=5 respectively. 10 minutes are given to solve all the 20 questions, in
which there are two Watch Tables. There are 10-10 questions for each Watch Table. In this stipulated
time, quickly darken the alternative circles given in the answer sheet.

fAer (w1 1-20): = 7T U FET UH ITH AAT TN SATTISF AT TR I UL AT T T 3L
EMTAR 3| T4F 7 % 70 IT-071 | 919 [Adeq w79 A=1, B=2,C=3,D=4 T E=5 [T U gl FHT 20
TAT T A HA o0 10 e 71 997 i g, 398 a7 Watch Table g1 % Watch Table & for@ 10-
10 =7 g1 THT Mg 997 § gF @Ra I | ST-957% (Answer Sheet) ¥ T U Jafoqs el &l HTAT
ey

Q1. Which is more valuable when going from north to west?

I H IS AT U< Al AT AT T g7

Q2. What will be the value of opposite to west if west is exchanged with east?

T &l 0F 8 AaA-T& e I GIE0H o aq0d a0 J19 FT g2

Q3. What will be the letter between West and South if Q4 is interchanged with X3 and Q1 with 027
Q4 FT X 3 AT Q1 &1 02 ¥ ATA-I&e LA I¥ TTSTH TAT ITETT o HET T T F47T ZIRTT?

Q4. Which letter will have the highest value in reaching East from West in anticlockwise direction?

ot & 9=t At Fodia Qo # 99 #37 0@ aF Ugad § (9 STeT FT 919 qa9 ST gR?

Q5. Which letter will be in the middle of the north-east if Z1 is interchanged with Y3 and Q4 is
interchanged with X37?
Z1 3T Y3 | TIT Q4 & X3 H ATA-TTA F¥d IT IAL-TA & AT I T ZT?

Q6.  Which letter will be in the middle of North-East if North is interchanged with South and 05 with
Y1?
I AT IA H TAT 05 FT Y1 & ATA-TIA Fdel I IAL-T3 o HET Fle &AL g2

Q7. Find the value of the letter opposite to the previous by interchanging 05 with Q1 and 02 with Y1.
05 % Q1 & TAT 02 T Y1 | ATA-TZA i I¥ T4 o ATHA o A& K 7T AT H2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

Q8. Find the value of the middle letter of the south-west by interchanging Q4 with X3 and 02 with

Q1.
Q4 FT X3 | TAT 02 T Q1 & ATA-T= LA UL TLTT-TIZTH F HeT F FAL T HIF AT FL|

Q9. Find the value of the letter in front of the east direction.

T4 39T % 919 % 3T& FT 71T ATT H2

Q10. What will be the value of the letter in front of the answer if Q4 is interchanged with Y3 and 05
with Y17?
Q4 FT Y3 & TAT 05 FT Y1 & AEA-T&A e IL I o TTH o AT T/l AT FAT gNIT?

S1. Ans.(e)

Sol. Correct Answer: (E) E

The value of 05 is highest while going from north to west.
et 3a¥: (E) E

I H I 6T 3T 1T 87T 05 FT /I T 9479 2

S$2. Ans.(b)

Sol. Correct Answer: (B) B

If we exchange west with east then the value of opposite to west will be 02. So our correct answer will
be option B.

Tt 3% (B) B

T &l 0F & AEA-T& e I II0H % aa0q 0 719 1 719 02 HT

=T gHTT Taf I9< fa%eq B T |

$3. Ans.(d)

Sol. Correct Answer: (D) D

By interchanging Q4 with X3 and Q1 with 02, the value of the letter between East and South will be Q4.
So our correct answer will be option D.

el 39 (D) D

Q4 FT X3 F AT Q1 T 02 | ATA-TGA el UL T3 qAT T o HET o T T AT Q4 FIIT| THATT gHT
el 3% fased D gR |

S$4. Ans.(d)

Sol. Correct Answer: (D) D

The value of letter Q4 will be the highest in travelling from West to East in anticlockwise direction. Hence
our correct answer will be option D.

gl 3% (D) D

Of%® | TS ol AT (ST § 997 ¢ 9@ % TgAd § Q4 & T {IF T ATAF R THTT FHIT el

3% AT D gl
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S5. Ans.(a)

Sol. Correct Answer: (A) A

By interchanging Z1 with Y3 and Q4 with X3, the letter Z1 will be in the middle of North-East. So our
correct answer will be option A.

Tl 3T (A) A

Z1 T Y3 | TIT Q4 T X3 | ATA-TaA el UL IUL-UA o HeT Z13T&T gIIT| THTT gHIT Fel 31T [aehed

AN |

$6. Ans.(c)

Sol. Correct Answer: (C) C

If we interchange North with South and O5 with Y1, the letter Y3 will be in the middle of North-East. So
our correct answer will be option C.

el 3% (C) C

L AT (A | TAT 05 &l Y1 H AEA-T8A Hi¥l UL IAL-TA o AT Y3 AT THITI THT gHIIT Fal 30T
frsheT C g |

S7.Ans.(e)

Sol. Correct Answer: (E) E

By interchanging 05 with Q1 and O2 with Y1, the value of the letter in front of the former will be 05. So
our correct answer will be option E.

et 3% (E) E

05 &I Q1 & TAT 02 T Y1 | ATA-IGA il I & o HTH h 37T /T T 05 T | THT ZHIT Tl 31T
oo E grm

$8. Ans.(c)

Sol. Correct Answer: (C) C

By interchanging Q4 with X3 and 02 with Q1, the value of the middle letter of South-West will be X3. So
our correct answer will be option C.

el 3% (C) C

Q4 T X3 & TAT 02 F Q1 ¥ ATA-T&A FHLA UL TITT-TT%H o HET & AAT T AIF X3 ZET| THCTT AT
el 3% fase C Erml

$9. Ans.(a)

Sol. Correct Answer: (A) A

The value of the letter in front of East direction will be Q1. So our correct answer will be option A.
Tl 3T (A) A

& 39T % AT % 37T F7 719 Q1 ZIITI SHIOT HIT el 3T (a&ed A ZHTTI

$10. Ans.(a)

Sol. Correct Answer: (A) A

By interchanging Q4 with Y3 and O5 with Y1, the value of the letter in front of the answer will be Y1. So
our correct answer will be option A.

qBl 3T (A) A

Q4 FT Y3 T TAT 05 T Y1 & ATA-Ta e UL 3T o TTHA o AT AT AT Y1 ZRIT| THIT ZHIT Tl 3T
e A g
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